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5.5-5.6 Quiz Review
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' Directions: Identity the slope, y-intercept, and equation for each graphed line. Place
Your answer on the lines provided. All slopes must be simplified.
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Directions: Write an equation in slope-intercept form (y = mx+b) for each line shown in the
graph.
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Directions: Graph each equation. Keep graphing ordered pairs across the ENTIRE coordinate
plane. Label AT LEAST 3 ordered pairs.

- S RV = =2 .
| @ /f ZYXT = s y "N ' @ 2 y /.215>
!' 7 | (Hﬁ)

4

. T d ) N
/ { e ,O) o = - l | >

/
o BN
Uy 1

A . (R5)

T , e
@ =2t @, o @ - =
¥ T y b1 Y

NS =

L]

LA
!
)
=y
AN
©
A\

—_
-

|1
\
N\
A\

e

7

A
OV
=)




Directions: Graph the following equations, given the ordered pairs. Then write the equation

on the graphed line.
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